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| 2,880




FA ABSL
ZM: HASANE
Cel: XI0H2el EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 720
1) XI DN 1 21K AP 28 ALRIR 5
5002 +8,000& 4,000
Jl 3,200
T 800
DXHEIIBEAILEES M A
1,500& 8,000 12,000
) 9,600
[Ea 2,400
DX IS TS ESZ DI
2,420,000 *42] 9,680
Jl 7,744
T 1,936
DXICHOI AL & =01 B, I 2 M A
5,000,000& 5,000
) 4,000
[Ea 1,000
DXIHHHEREE T Y
19,800,000 19,800
7l 16,840
T 3,960
DXIHANHEZ QAR H DL
6,000& x734% 4,404
) 3,543
o 861
NI 2EEE1Y 50,0002 %122 600
l 480
[Ea 120
DXHIGEUHAISES 2 S M=
5,0002 *400H 2,000
Jl 1,600
Ea 400
XN eI | 23 BRI
200,000 *3H 600
l 480
[Ea 120
DXISALSI RIS A S A 4=
70,0002 x3H+23] 420
Jl 336
Ea 84
DXIHtA M H SRR TS|
150,000 x2& »23] 600
l 480
[Ea 120
02 S5=2g4l 20,160 20,160 0




FA ABSL
M AUSERY
Cel: XI0H2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DRI HA HIEH SH Ol K7 R 2 =]
500,000 500
Jl 400
Ea 100
DXIOHQtA M B A MU E S S
300,000& 300
Jl 240
o 60
XIS A B XX SIHAS
300,000 *2CH 600
Jl 480
Ea 120
1) XIOHQHA MIE Xt =2l H
1,500,000 2CH 3,000
Jl 2,400
[Ea 600
1 XIH A MIE X2 R R
11,760,000& 11,760
Jl 9,408
Ea 2,352
DX SR 2L ESLTRS
5002 +8,000&H 4,000
7l 3,200
Ea 800
03 Ar=EHI 10,000 17,420 AT,420
1) XIS A M SALEE 10,000,000 10,000
Jl 8,000
[Ea 2,000
202 04| 18,200 15,800 2,400
Il 14,560
s 3,640
01 =LHOLI 18,200 15,800 2,400
1)XIHQFAl S B 2 & 2 LHOA b
50,0003 x2& »502] 5,000
Jl 4,000
= 1,000
DX HH SRS H I
550, 0002 x2E * 122 13,200
) 10,560
o 2,640
206 M=l 19,200 10,200 9,000
Jl 16,360
T 3,840
01 MHZHI 19,200 10,200 9,000




FA ABSL
M AUSERY
2l XI0H2t2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DXIHtAMHEZ QA2 AT EH
10,0002 %302 203 6,000
Jl 4,800
Ea 1,200
NIEERY 2HEZ2 HRATSH
10,0002 %108 *423] 4,200
Jl 3,360
[Ea 840
X0, X et nal 2 EH
10,0002 %302 *303] 9,000
Jl 7,200
Ea 1,800
301 EetE NS 37,000 31,988 5,012
Il 29,600
o 7,400
11 AALEIXIES 12,000 12,988 2988
DXt NHEZ DA AR E &
12,000,000 12,000
Il 9,600
= 2,400
4Bt 2 a3 25,000 19,000 6,000
DRIt HIEH E A O At &
19,000,000 19,000
Il 16,200
s 3,800
DXHMMHEZ DR HAAIZ
200,000& *302 6,000
Il 4,800
= 1,200
M A=FESS 9,840 9,840 0
) 7,872
o 1,968
M SRA(RIAHY) 22X BEERE=3 S 9,840 9,840 0
NSR(PIHA)2 2L 282 2Y3E
410,000 x2H * 122 9,840
7l 7,872
Ea 1,968
307 elztol & 103,327 87,321 16,006
Jl 82,662
[Ea 20,665
01 2g & 2=Hl 103,327 87,321 16,006
DX =S EE7Y 57,327,000& 57,327
) 45,862
o 11,465




FA ABSL
M AUSERY
SRl XIoH2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DAt 2el XS, 257
20,000,000& 20,000
Jl 16,000
Ea 4,000
DRI IS EAS I A T
16,000,000& 16,000
Jl 12,800
[Ea 3,200
DXIHZ=I B &YX 40,0002 x250 10,000
Jl 8,000
o 2,000
XIOHOH 22| (R BHAFRY) 224,554 123,662 100,892
=S 145,960
s 78,594
308 XM SOIE 224,554 123,662 100,892
< 145,960
[Ea 78,594
183 SISO EAS A 224,554 123,662 100,892
1)XIOHXI E2teldl X2 224,554,000 224,554
== 145,960
= 78,594
SN USIS=A(EX) 1,850 1,850 0
) 1,480
o 370
201 fet= 3| 1,850 1,850 0
Il 1,480
s 370
01 AtR2tc|Hl 1,850 1,850 0
NXIHSS=AAMNL 2L 1,850,000 1,850
Jl 1,480
T 370
SEHRYHASIEA(EX) 106,000 100,000 6.000
Jl 53,000
[ 15,900
Ea 37,100
307 elztol & 106,000 100,000 6,000
Jl 53,000
s 15,900
s 37,100
02 QBN ER 106,000 100,000 6,000
DXIHEXXRE2 B 2S
106,000,000 106,000
Jl 53,000
=S 15,900




FA ABSL
M AUSERY
SRl XIoH2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 37,100
AZXIHSAHEH2SH(EX) 6,360 0 6,360
== 1,908
[Ea 4,452
201 =3 5,000 0 5,000
< 1,500
s 3,500
02 S5=2g4l 5,000 0 5,000
DXt HHSS A A2
5,000,000& 5,000
= 1,500
Ea 3,500
301 Eet2 NS 1,360 0 1,360
== 408
o 952
11 AALAEIXIE S 1,360 0 1,360
DXIHEXNXLINZ0EXNRE2IH2S
1,360,000 1,360
= 408
= 952
Hsds 9,929,398 14,239,465 /4,310,067
[ 111,000
) 499,45
S 46,212
= 9,272,730
H=&E 9,929,398 14,239,465 /4,310,067
= 111,000
Jl 499,45
= 46,212
Ea 9,272,730
H=ds 77,980 24,362 53,618
201 fet= 3| 58,480 6,112 52,368
01 AtR2t2lHl 58,480 6,112 52,368
NHSTE 2L A
8,0002*x5& *413] 1,640
NAIRES 2 A2EH] 70,0003 * 122 840
NS MSAL KAl 1,000,000& 1,000
Nalg S 2ol S& M
55,000,000 55,000
202 04| 19,500 18,250 1,250
01 =LHOLI 19,500 18,250 1,250
NHSEE RN S0
60,0002 x5& »563] 16,800
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A HLST
M WSIE
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 140,818
307 2I2+o| ™ 281,636 276,192 5,444
J| 140,818
= 140,818
02 QHBAAA ST 281,636 276,192 5,444
1)01 2 A SH S XI S XX
281,636,000 281,636
J| 140,818
= 140,818
OSAMEYSACHESEEHI(EX) 1,476 0 1,476
J| 738
= 738
307 2I2+to| & 1,476 0 1,476
J| 738
= 738
02 QA AAL BT 1,476 0 1,476
1O 2AMSH SIS AHSSES2XIA
1,476,0002 1,476
J| 738
= 738
MEH SN NS 162,9% 169,456 28,500
307 2I2H0l 162,956 169,456 28,500
02 QB AAIA BT 162,956 169,456 28,500
1MEHSXISA SZ0H X
66,240,000 66,240
NASHSNER 2SN
9,716,000 9,716
MEHSX SN (2X) 19,200 19,200 0
= 7,680
= 11,520
307 QI2H0I A 19,200 19,200 0
= 7,680
= 11,520
02 QB AL BT 19,200 19,200 0
NMEYSUESIHIMAH (RS2 ZH])
100,000 %16 * 122 19,200
= 7,680
= 11,520
S S5 600,000 975,000 375,000
307 QIZt0I A 600,000 975,000 375,000
02 QB AAABE 600,000 975,000 A375,000
NEetdE M=ss &t K&
190,000,000 190,000




FA ABSL
u: XS
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
N2E M= ot & Ozl A
130,000,000 130,000
Nz tEds 88 X2 10,000,000 10,000
NeaMs SHBR| YR S FSX
60,000,000 60,000
NEUR |48 L HSsMLs SHX
20,000,000 20,000
NRAE E70M 2% X
20,000,000 20,000
NeeNsss2SNE
20,000,000 20,000
NgdN=ss 243t A
100,000,000 100,000
2 HEds 282 XY
20,000,000 20,000
NASHSBASIINY & 2I1E Zdl X
20,000,000& 20,000
Nelekz Xz o EE2RX X
10,000,000 10,000
ARSI MEUH20HE 150,000 150,000
307 el2to| & 150,000 150,000
02 2IZHBYAIHE A 150,000 150,000
NAHZHSSIAD] KM Wzl XJ
150,000,000& 150,000
LS 100H B A SHH2E (EX) 203,640 207,000 23,360
7l 142,548
T 61,002
307 elztol & 203,640 202,000 1,640
Il 142,548
= 61,092
02 2IZHBHAIAE & 203,640 202,000 1,640
DAY=l BHE 2 X (0HE)
203,640,000 203,640
Jl 142,548
o 61,092
oM =23t 47,000 3,000 44,000
307 212+01& 47,000 3,000 44,000
02 LB HANHE L 47,000 3,000 44,000
NEEEHMAMFUHE
26,000,000 26,000
NS HMAMSHSUHS
16,000,000 16,000
NASZHAKMFHE ZIHAIA
5,000,000& 5,000
SMAILIOBHSTHEDHE (2X) 295,000 10,000 285,000
& 20,000




SH: AYBED
M MsdE
&2l HsdE EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 275,000
307 gl2tol & 295,000 10,000 285,000
=S 20,000
s 275,000
02 QB AANSEER 295,000 10,000 285,000
NECEHSHIAY WX
295,000,000 295,000
< 20,000
s 275,000
HIS&43H(EX) 245,000 10,000 235,000
= 5,000
Ea 240,000
307 @20l & 245,000 10,000 235,000
=S 5,000
s 240,000
02 QB AANEER 245,000 10,000 235,000
NE2EE =4 IHHHSE HEXI&
170,000,000 170,000
Nelgtd e M=0HsHl HiSOa JHE X
55,000,000& 55,000
= 5,000
[Ea 50,000
NeloHMe S 2x Mg stMHIS S
20,000,000& 20,000
ZSSdHENAEY 55,000 73,000 18,000
201 =3 5,000 5,500 A500
01 At2t2ltl 5,000 5,500 A500
NotSna DSIH(BISHAE, i S) 5,000
301 EtE N = 50,000 67,500 A17,500
14 DBt 23 50,000 67,500 217,500
EFSZAL QAHI(ZALZ, ZAAH) 50,000
AMXEL2 R A2 217,400 92,440 124,960
101 21A4H| 8,100 9,000 A900
04 JIZtN2 2N S 2+ 8,100 9,000 A900
NAXXELR SZEH| el
90,0002 x5 18 8,100
201 el 85,300 79,440 5,860
01 At22t2lt] 1,300 1,440 2140
NAZXELR 2Y A28 1,300,000& 1,300
2 s5=34l 84,000 78,000 6,000
NAZXER 2 7.,000,000& *12& 84,000
401 Al HIZ S OHYI 124,000 4,000 120,000
01 AlZ8| 124,000 4,000 120,000




SH: AYBED
M MsdE
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAZXELR SBTH| ZHIAE
500,000 82 4,000
NalehZoIXF2 MIINE 2=
20,000,000 20,000
NAltZOIHIS 2 LED AQBIEX]
100,000,000 100,000
SSHFAIERX 2 135,680 160,640 A24,960
201 er23 | 119,680 105,640 14,040
01 At2teltl 7,000 4,000 3,000
NHSAIE EX(ZRMA) SRtz
7,000,000& 7,000
02 S3=gHl 112,680 101,640 11,040
NEH(23%) 24 200,000& * 128 2,400
e ZCHSHH 29
470,000 123 5,640
N =2UMSUH GEES
1,200,000& 123 14,400
NS¢ HolESE 22 77,760
NEY MSANL(25E 8) 29
80,0003 * 1304 2x* 123 12,480
401 Al HIZL 01| 16,000 55,000 39,000
01 Al&H| 16,000 55,000 39,000
N3SHSAE |A B 16,000,000 16,000
SHAMSAIER7 A2 6,720 61,720 /55,000
101 @124H| 6,720 6,720 0
04 JIZtN2 2N S 2+ 6,720 6,720 0
NEY HMSAIE S3FH| 12
80,0002 x4 »213] 6,720
A2 0P & E 136,487 0 136,487
401 AIEHIZ R 0HYI 136,487 136,487
01 Al&H| 136,487 136,487
A O & ZHESA
136,487,000 136,487
MEUXNSH RV KUEHE (EX) 1,526,000 1,200,000 326,000
401 AIEHIX SO 1,526,000 1,200,000 326,000
01 Al&H| 1,223,000 0 1,223,000
e SSHSURE IMSHH A
1,223,000,000& 1,223,000
02 2/l 300,000 1,200,000 A900,000
A& 2 B82S 300,000,000 300,000
03 Al 20HHI 3,000 0 3,000
N SSdaUse SUMSUE A
3,000,000& 3,000
NESHMHAEIAUMSUHAZY (EX) 2,578,000 1,800,000 778,000
401 AIEHIX R0 2,578,000 1,800,000 778,000




SH: AYBED
M MsdE
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,275,000 1,000,000 1,275,000
)&l BHCH| ReIHSHE A
2,275,000,000& 2,275,000
02 Zcltl 300,000 800,000 A500,000
NAEAIg2e 24 300,000,000 300,000
03 Al 20HHI 3,000 0 3,000
1&gk BHOHH| SRIMSHE HE
3,000,000& 3,000
HSHIBMEEARZHSZAZ(EX) 369,000 2,900,000 22,531,000
401 Al HIZL 201 369,000 2,900,000 22,531,000
01 Al&H| 200,000 2,900,000 A2,700,000
NHISH 2pded IUNSUE A
200,000,000 200,000
02 Zcltl 168,000 0 168,000
NHISH 2edeE IFLUHSHE A
168,000,000 168,000
03 Al 20HHI 1,000 0 1,000
NHIS8 2eldad RUNSUE A
1,000,000& 1,000
NesSHECHZHE (EX 218,000 218,000
401 A& HIX R0 218,000 218,000
01 AlZH| 218,000 218,000
NAESHEETMZHE 218,000,000 218,000
SIHEE2S T RL (HEAY) 473,500 700,000 N226,500
401 AIEHIZL SR THY] 473,500 700,000 A\226,500
01 Al&HI 473,500 683,500 A210,000
Nt RHH ST THEAXTY
473,500,000 473,500
AHHOIESHTRCIZM (MEAIY) 70,000 0 70,000
= 21,000
o 49,000
401 AIEHIX SO 70,000 0 70,000
= 21,000
o 49,000
01 A28l 70,000 0 70,000
N HOIESE AXEC =
70,000,000 70,000
[ 21,000
[Ea 49,000
AUNBERSSHEITZTE(HEAY) 300,000 0 300,000
= 90,000
= 210,000
401 AlEHIZ S 0HbI 300,000 0 300,000
= 90,000




SH: AYBED
33 MEdE
el MsdE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 210,000
01 Al&H| 298,000 0 298,000
Aot ZHSER ERE T4
298,000,000 298,000
[ 90,000
[Ea 208,000
03 Al 20HHI 2,000 0 2,000
Aot BHSER ERH T4
2,000,000& 2,000
NAEStAR RS H(EX) 500,000 0 500,000
307 gl2to| & 500,000 500,000
02 QIZtEHAEE X 500,000 500,000
NXGESA T2 ES LAY
500,000,000 500,000
Y 2IIH(AASa ) 83,076 71,967 11,109
el 2| 62,076 53,467 8,609
el =gl 62,076 53,467 8,609
101 @124H| 62,076 53,467 8,609
01 &2 62,076 53,467 8,609
NARI2IZ22+E(62)
12,5312 +6E +30A1 2t 123 27,067
DA 2RAEH(72)
11,3193 x5 +x30AI 2H= 123 20,375
NAIZIe 2R+ (82)
10, 1622 x4 x30A[ 2+ 123 14,634
Jl=2dsl 21,000 18,500 2,500
Jl=23H] 21,000 18,500 2,500
201 fet= 3| 3,480 3,900 A420
01 AtR2t2lHl 3,480 3,900 A420
M2 ARl 120,000 x29& 3,480
202 04| 13,920 10,400 3,520
01 =LHO LI 13,920 10,400 3,520
NEMSE=IUI 60,0002 x 16«83 7,680
NSRAHLRFIIUYI
60,0002 x 132 +83] 6,240
203 HR=4AY] 3,600 4,200 2600
MU A2 LIFLI 3,600 4,200 2600
1)302! 015t 300,000& * 128 3,600




